National 5 Unit 1  Expressions and Formula        Practice NAB 2 Marking Scheme

Points of reasoning are marked # in the table.

	Question
	Main points of expected responses

	
	
	

	
	Assessment Standard 1.1     Threshold   4/7
	

	1 
	(1
start process
(2
simplify surd
	(1
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(2
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	2 (a) (i)

         (ii)

  (b)
	(1
simplify numerator

(2
correct answer

(3
correct coefficient

(4
simplify indices 
(5
calculation of seconds
(6
express in standard form
	(1          y 9
(2
y6
(3
12
(4
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a

 or   a1  or   a
(5
3·156 × 107× 5

=157800000 QUOTE 
  

(6
1.578 × 108  QUOTE 
 

	
	Assessment Standard 1.2     Threshold   5/9
	

	3 (a)

   (b)
	(1
multiply out brackets

(2
multiply out the brackets

(3
collect like terms
	(1
27x – 9y QUOTE 
 
(2
x2 + 2x + 5x + 10
(3
x2 + 7x + 10 QUOTE 
 

	4 (a)

   (b)

   (c)
	(1
factorise expression

(2
factorise difference of two squares

(3
start to factorise trinomial expression


(4
complete factorisation 
	(1
x(x – 8)

(2
(p + 6)(p – 6) QUOTE 
 
(3
(x   2)(x   7) ie evidence of brackets, x, 2 and 7


(4
(x + 2)(x + 7) 

 QUOTE 
 

	5
	(1
start of process

(2
complete process
	(1
(x + 3)2
(2
 QUOTE 
 (x + 3)2 + 2


	
	Assessment Standard 1.3     Threshold   3/5
	

	6
	(1
reduce to simplest form
	(1
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	7 (a)

   (b)
	(1
denominator correct

(2
numerator correct

(3
multiply by inversion of fraction

(4
correct answer
	(1
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(3
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	Assessment Standard 1.4     Threshold   5/9
	

	8
	(1
evidence of gradient calculation


(2 
correct gradient 
	(1
Uses
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(2
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	9
	(1
substitute and start calculation 


(2
complete calculation

(3
round calculation to 2 significant figures
	(1
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 QUOTE 
  

(2
14.137….or  equivalent


(3
14 m3

	
	Assessment Standard 2.1  Threshold   1/2
	

	10


	(1#2.1 uses valid strategy to find volumes of cone and cylinder

(1
calculate volume of cylinder
(2
calculate volume of cuboid
(2# 2.2
state conclusion with valid reason
	(1# 2.1 Substitutes relevant values into correct formulae

(1
2356.19 m3 or equivalent

(2 
24 m3  or equivalent


(2# 2.2 Number of trucks needed is 98   (from 2356 ÷ 24 = 98.17).



	
	Assessment Standard 2.2     Threshold   1/2
	

	11   (a)

       (b)
	(1
correct ratio and substitution 

(2
calculate arc length
(1   #2.1
valid strategy

(2  #2.2 
interpretation of answer 
	(1
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(2
110.0 cm or equivalent
 QUOTE 
 
(1#2.1     eg 110 × 24 (or 30000 ÷24)
(2#2.2
Yes enough tape because   2640cm < 3000cm 

             (or 26.4m < 30m)(125cm >110cm)
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